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[Question ID = 95][Question Description = Q95_Maithili_SHAAN_NOV20_S1]
1 [Option ID = 377]
2 [Option ID = 378]
3 [Option ID = 379]
4 [Option ID = 380]

AN wN -

Topic:-

1)

18MAITHILI_C

T HE

Tl o A e FUE eS| T 9AE Fead w0 Tsa| 4l o v A @ a9 g
ifsat =9| TEITET R T BUF — AT o a9 FRATE || g aeim sum e wE 9|
Ty AU USRI ISR U T A (g 159 EUEt SETT SIS e | AGHE e AE
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[Question ID = 96][Question Description = Q96_Maithili_SHAAN_NOV20_S1]

A W N -

2)

. 1 [Option ID = 381]

2 [Option ID = 382]
3 [Option ID = 383]
4 [Option ID = 384]
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[Question ID = 97][Question Description = Q97_Maithili_SHAAN_NOV20_S1]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]
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[Question ID = 98][Question Description = Q98_Maithili_SHAAN_NOV20_S1]

1
2
3.
4

. 1 [Option ID = 389]
. 2 [Option ID = 390]

3 [Option ID = 391]

4)

. 4 [Option ID = 392]

fem ;e s sEEs Ut tEd Teg TeEEeE I S o Se-awerd wa (FEen)w
=T wE

T & AR T FO eS| T g9AF O WO T3S | HUel § v e Ju 9y e
=g AR FF ; 9U 3 e 93 Tgg ve e Afs) v §i9 o T v e e - ST
s =9 THITET WAl g FUF - NS O a9 FREATE 99| g St S vE e gE O |
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[Question ID = 99][Question Description = Q99_Maithili_SHAAN_NOV20_S1]

1
2
3.
4

5)

. 1 [Option ID = 393]
. 2 [Option ID = 394]

3 [Option ID = 395]

. 4 [Option ID = 396]

fegm ;. s sEEs Ut tEd Teg TeEEe® I S o sp-Tawer wa (een)w
=T wE
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[Question ID = 100][Question Description = Q100_Maithili_SHAAN_NOV20_S1]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fr
Others (OT) 6% *h

frafafes aifes = fa=m $ifse f5om o 57 5o ad | 9w = fafim & & e & s =1 afam
(%) fammn @ wu-afEen FEEw o = T 2| wdft e T FEee w50 =@y
ATt § T2 U SATHS] % YW 9 yvT % 391 alAu)

A % FEEE F1 EFan G

wfeore (%) feeeor | geq-wfeen wigam (g9 )
Fa (TE 3) 15% i
Ted (TE ) 12% 5:3
fomto it srgeem (o ) 9% 5:4
TrpeEe (d #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Teft & i et ge e i sied TEa 9= 27 (SIhed & g W a9)

(1) 6.39 =@ (2) 4.69 @@

(3) 5.96 ©ng (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]



4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% B
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% s
Others (OT) 6% 3:5

Fefertaa arfers 1 o Hifsw f5ew v 53 50 ad 9 7o % e @ | e % weEee w5 aieea
(%) oo @ gr-afeen wEge ou g@E @ 2| wdf &9 % B wEee $ e 80 @ A
AT | T30 70 SATRST % 90 T U9 F 397 S0

NG & FHEee 1 HFa1 T

wfeors (%) e | ger-ufeen @ (709 )
TET (U ) 15% 3:2
ey (ug ) 12% 5:3
frmfor o srEam (o) 9% 5:4
TETEE (i ) 18% 5:7
TEgT (TH ©) 21% 3:4
JearEA @ it (fF #) 19% 518
3= (=7 7) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
Ug $ o ot S &R H e Afee #eee i $e gen d vh A ° Seig g wEee 6 e w5

(1)  330% (2) 318%
(3)  320% (4)  80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]
4 [Option ID = 8032]

A W N -

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Bt ot o Th g Baitanment W anlsFavea: nf Traddhs



Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (SA) 12% g
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% g
Others (OT) 6% 2:h

ffafed aifers @ faam fifse f5om o 57 5o ad 4 om = fafim &t © e % s =1 afeem
(%) Taemor Qo geu-ufEel e S SEE T 2| 'l &6 % Fel wEwd H ged 80w
FifeAant § f2u U wTiS] F YW W UTE % 39 el

URA % FEE F SaaT

wfaard (% ) faawor | gea-afEen oW ( §: 7 )
#a (TE 3) 15% g
Hew (T ) 12% B:g
i 2 srgrem (= o) 9% 5:4
ke (ff @) 18% 5:7
TaEe (UF T) 21% 3:4
Ieare ¥R ufeEe (d #) 19% 5:3
a7 (= ) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

UH U ST UA U H R YEY wee H He wer O 2 & 0 e s i el S H e
feramn wfcwa 27

(1) 82% (2) 87%
(3) 89% 4y 83%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

A wWw N =

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution (M: F)
Service (S3E) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4




Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% s
Others (OT) 6% 3:5

Fefertaa arfers 1 o Hifsw f5ew v 53 50 ad 9 7o % e @ | e % weEee w5 aieea
(%) oo @ gr-afeen wEge ou g@E @ 2| wdf &9 % B wEee $ e 80 @ A
AT | T30 70 SATRST % 90 T U9 F 397 S0

qNA = FEE F1 SFan [Ha

wfeerd (%) T | gee-aiwen wgeE (79 )
TET (U ) 15% 3:2
ey (ug ) 12% 5:3
fmfor o srEam (o) 9% B4
TETEE (i ) 18% 57
TEYF (T T) 21% 5:4
JearEA @ it (fF #) 19% 518
3= (a1 ) 6% 8:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U AN UH U S § HE Afee wEee i $e @ AR 6 Y w9 0 weed afgen wEee S g w5

(1) 5.1%ma (2) 7.5 @@

(3) 579 (4) 13.2 93

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% 3D

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) faao a1 Eu-AtEen FEEa sTE FmE T 2 @l & % Fe FwEea F sEm 80 o E



AMled=hl H 198 0 ARSI =6 HTEE 9L 774 =6 3T gliE0)

T (%) foror | gew-afeen sgm@ (7:9 )
T (vE 3) 15% 3:2
TeH (v ©) 12% Brd
it #i srgeam (o) 9% 5:4
TrFTEe (W) 18% 5: 7
TeE (TH T) 21% 3:4
IeareA 3 ufEE (d &) 19% i
W1 (=1 #) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17:39 (2) 16 : 37

(3)16:35 (4) 16: 39

of vH &3 °§ FEd AfEen wEwe S G A d 96 vd o A Al 6w ey wEee H Be S &

ST R
(1) 17:39 (2) 16:37
(3) 16: 35 4y 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEAA = 8 =1 ¥ g TR fOaR 31 g5 9 95 T AR I6 g e W e W R 8 7
(1) =@ == (2) oTEET =W
(3) TR (4) wEET fFwE =

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?

(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)



(3) (D) and (E)
(4) (B) and (D)

Fferfiaa Fo 9 wesme auaa 6 gt 2 5% asme ged @i gl = mean @ e B
T 2| I T T SEEn SEET F A 2| 9 d FiE 6l AEA SR ST F e el 2 v

(A)  STH-aE (FWe)

(B) e

(C)  Tamam =1 afafs

(D) HEE]

(Ey  A5Far

= fau o famewi d O GE 3 #1 =9 HifAu

(1)  (A) 371 (B)
(2) (B) #E(C)
(3) (D) ¥ (E)
(4)  (B) 3 (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I), (C)-(I1), (D)-(1V)

(2) (A)-(lI, (B)-(1V), (C)-(1), (D)-(IN)

(3) (A)-(1V), (B)-(llD), (C)-(I), (D)-(I)

(4) (A)-(In), (B)-(), (C)-(1V), (D)-(1N)

Tt-1 % wry gi-11 = T Fifae) gei-19 3= wiferm weenet 7 faamn £ fafamn & 0% 2, s ge-
11 9 wies Tt 1 oqmEeiea @ 1 a1 3 78 2]

-1

g=ft-1
2 TS weE F AR

(A) WA T SAdeATeRE A (I) =599 31 go@ =1 7=

(B) U 31 gt sifermm fafa
(C)  Toreqor =i === fafa

(D) Toreqor it @ATH==A g

= Grmo B T O TR ==T = =9 = -

(II) wfsriaa Aaeamens 9

(I1T) HT3geR ATEIeAF A=t
(IV) wf==t & ara-ur e o



1) (A)-D. (B)-II), (C)-(III), (D)-(IV)
@) (A)-IID, B)-AV). (C)-1). D)-1I)
@) (A)-AV). B)-(IID). (C)-AD. D)-D)
4)  (A)-ID, (B)-0). (C)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

e (I) : IR AT SAfEEar wiE B W % [ S IRt aFar Y S weE

F2 (I1) : FEAE =wed TET 3w SAthacs wian gt & & =EEn 3 e

AT FH % YAEE W dAn R T 2
IWE FUA AT |, 4= 20 0 e 8 6 wes 39 3 6 =94 S

(1) =9 (1) =i (1D 21 =8 2|
(2) = () 3 1D 3 T E
(3) = (D) = 2, =i e (1) e R

(4)  =a (I) Terd &, W w9 (0D 58 2]

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

I =1 e fau w2 . v wf9F9T (Assertion A) F ®W H fAfEd A LR 5% F10 (Reason R)

i (A) forem & sy st g = & smenfa wEEa gl w5 e T At aiomsy
1 TEAH ST 2

FA (R) Rt oarht foveror wErAT w0 st afifaten @ gaw @y w3 e S



el

3UTIR YA AT |, A 0 70 fased | | @R 39 1 99 i

(1) (A}W(R)aﬂ%ﬂﬂ%gﬁ(f{)(tmaﬁg—ﬁam%l
(2)  (A) 3 (R) 24 & 2, &6 (R), (A) Fi w8t = 74 21
(3 (AT 2, d@FF (R) 379 2|

)  (A) @ 2, wfE (R) 99 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

for| TR % T | UiaHEi Ui = eEEd e e e v

(1) == ame (2) tfeEas e
(3)  =AEETEE WY (4) wEeEE G

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

ftmenT afiem fageht aforfa =1 a1 sfugfe @1 emfe = w0 9 26 2, ora 6 Fefafas § 1 & Gl

= FIE FUFN 27

(Ay  Tagrones fata

(B)  wEITIeR= i

(C) =R &g
(D) et f&fy

(E) ==& fara

= fau T fakeat | @ wE Sw W = A

(1)  (A) 31 (B)
(2)  (B)# W (C)
(3)  (C)#wm (D)

(4) (D) # (E)



[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(D, (B)-(I1), (C)-(lN), (D)-(IV)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(), (B)-(1), (C)-(11), (D)-(1V)

-1 = =g g=-11 1 fiem Fifae) g1 8wy & =9 950 2, St g1l | 1 g 9g ahAE

71 F-11

e & = THRT A 1S AT TR
(A)  FE g (D) TSl = A S AT e
(B) ftea fmio (IT) U FevR U2 H FHEA B o1
(C) wiee==a uie =1 =91 (IIT) == = & § 5 9y 33
(D) @TeT fagem (IV) =08 = = = o= gey T w0

= fou v faweul # o wE 3T %1 999 it

(1) (A, B)-IV). (C)-(D). (D)-(D)
2 (A)-D. (B)-AD. (C)-(IID, (D)-AV)
(3)  (A)-AD, B)-AID. (C)-@). (D)-IV)
@) (A)-ID. B)-D. (C)-(D). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

e 31 e fow e #

F97 () : UF Wg-TEY A Me-ug § SEd w1 gevA % ey ofR el F e e oaw 98
F97 (IT) : o1ty et Afamhar # TE FaeE adt oAl & foro afEd 2)

TR YA AT °, 49 S T e | wE I R 99 i




(1) =% (1) =1 (II) 341 a9 2
(2) = (1) S (1) ST 8T B
(3) = () =3 2, A w9 (1) 39 2|

(4) = (1) s\ 2, | weE (1) 9 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I 21 F99 fav U § : vH YA (Assertion A) F %9 H foifigd & @ ZH IHF FA0 (Reason R)
FETH

ATFIT (A) fepelt =i gierewr (Ha) = Feeseofie afimesn (Ho) =ht gemEar o qhiam fan s
T 'T_'[-1|
F (R) : sty afekew (Hy) =1 ahamia i sifagfe @ig =9 & 78 1 s o 2

T FYA F A A, 49 20 T e 8 8 g S I R =94 i

(1) (A) =T (R) 21 581 # =0 (R). (A) F 78 =737 2|

(2)  (A) @R (R) ZF T8 2, T (R), (A) F1 WE =men T 2
(3) () =& 7, = (R) 79 A9 R

4) (A @ TE 2, 9 (R) TR B

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

g TE UiTe e ad TS UF e Fetatad @ | e At s w2 e
(1) 30 sFait (2) 30 W8
(3) 15 s (4) 15T

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

o FmmmT 1 ad-fE (ST) "Let truth prevail 27
(1) fz == (2) TEE AE T
3y fzfo=mm (4) = &=



[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= @ =y fow U 2 ;. um sy (Assertion A) % =9 ¥ ffigd 2 4 Ly 3@+ #F00 (Reason R)
FETH -

AR (A) Al TERY (FTsTRe) SEHa Afas Tarwsi 3 R 0E wiar &, Teg T8 gifsa
it % ¥ 3EH UH9E 92 T 2

#10 (R) : SeiE JEE (FisHne) Hifsan W dsmi B F SR w= 2
UL YT & A °, {9 20 e fameul § 8 mey 3ugw I 6 9 i

(1) (A 37 (R) 3 781 7 =0 (R). (A) F 72 =377 2|

(2) (A 3 (R) I TE B, S (R), (A) Fi FE = T 2
(3) (A= 2, A (R) T8 T4 2

(4) (A wE FE 7, = (R) TR 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHEER % IV AT Bg IAFT W AAIFies 8 TR § UH TRiE Has J gt aned 5u?

(A)  wEE Tamm At i ama i me e F e

(B) == wA1" Foibal S19e % |19 9mE 24 # o)

(C) et i foen gonel = = owEE # femg

(D) I gEon w9H # fou TR wifzan = ueas v diti B 2
e faw o fasedt @ W wEE UG I H WA AL

(1) === (A) 31 (B)



(2)  =E= (B) 3 (C)
(3) === (C) 3 (D)
(4)  FaE (A) (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

Hr= &t 72 g 9 O mmw i g st w= e fifm

(&) I
(B) =gz
(C)  wam
(D) =M

(E) = =14 541

= fou o faweul ® © wE 39 %1 999 FiAu

(1) &a= (A), (B) #117 (C)
(2) @ (B), (C) 31 (D)
(3) == (C), (D) 3 (E)
(4) T4 (A), (C) R (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

UF AN F AR UF GHAR e JIEE S U9E 3 9EA1 A 4000 T, 39F SE 4 9EA H 4500 T
R wfag 5 WA #5000 w9 91| 3 IW A9 % SOA Fe s=d 5000 w09 o 91 3@ ufEn f osiiE
TifEes = TRt ot ?

(1) 3000/~ = (2) 4000/- T

(3)  5000/- =5 (4) 6000/- =



[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75  (4) 56.75

70 ® 90 & dr9 #i @ AT "EmEl = e gan -

(1) 765 (2) 098.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% = 33 #fiew 39 g W 11 e 39 F fawa gem F avew o Afdq Fa 2 ufowa § @

ELLLEES

()  25% (@) 50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  (2) 5.26%
(3)5% (4)7.2%

7fg freft aq 1 =T gem 3E fawa geg = 95% & °f @y i wfawhar F= 27

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

af =15 =afs faet awg +1 26% wfawa 6 w1 @ 58 1200/- #99 & s=a1 2 o1 30% =1 @9 F9H &

feru 30 9@ =g =i e Sima o s=ET =fET e

(1)  1600/- =73 (2) 2000/- =
(3)  2080/- ww (4) 1560/- =

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]



21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T WAATE ZAITE § 9 1 Fefeated 8§ w9 9 e 95 w9 9 ® wy oeeEa
T 27

(1)  samE (2) A
(3) FIHH (4) :ﬂgqﬁ%'%x

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I TR o FFEN AT % Wl H 9 o HE o A

(A)  Toams fawm @ sgmo it GuE )/ oEsaT #1 w9 (3999)
(B)  wwOn = A (79)
(C)  sAtqumon i fagdt = =v # gfz (o)

(D) atqgmon =1 F9F (wia)

(E) Tafea fam =1 22w 21 (2=2mem)

Hi= fau U fashedi § ® @& 3T 0 =G AU

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A). (C)

(4) (D). (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?

(A) Navava

(B) Vaiéesikas

(8] Buddhists

(D) Mimamsa



(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B}, (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

T RAE ZEF9E h FH T BEEE 953 TH B F9EE % AT JEal 27

A) =m
(B) dsify=
€ g
(D)  HmEn

(E) =@/

Hr= fou o faekeai © © wE I R =9 i

(1) === (B) #l (0)
(2) === (B). (C) 31 (E)
(3) === (B) 31 (E)

(4) == (A). (D) 0 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= =1 wu fae T
U (D) T RS THATE % AR T 0 e 5 H 4w 2
Foa (1) difsher W1 F% A1 Sardl & 5 =6 fFm uen 8 sam S =i sfew g 18

gardl 2 76 26 F8 IEE @ 2

IR FUA F AEF °, S B0 GEe § " g8 39w 99 i

(1) = (D) =1 (I0) 31 a9 2
(2) = (1) SR (1) 21 15T Bl

3y = (D I 2, w99 (D o759 2|



(4)  FF (1) 39 &, @FF 99 (1) 59 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

T1-1 = =1y g=i-11 71 e i)
i1 T II
T = = THATET
(A)  sfipgron 6 wefa % =9 9 gie (I) = g1l 20 & 96 A7 ' 2 S WmEw
H
(B) =W = HU (II) &l o =17 2
(C) Tfea w1 =g 2 (IIT) sHfT TaTEl T 3717 2|
(D) Toiaa 1 =T SAfaame # =T (IV) =it =& g1 2|

F= fou o fasked @ © @E 3T 0 =99 iAo

(1) (A)-(I). (B)-(I1L). (C)-(IV). (D)-(1I)
(2) (A)-IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(IT)
(4) (A)-(II), (B)-(I). (C)-(I1L). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 & HOEI 3 7l B 0 UH A9 Higel @ eiugd w1 i e 2 e o faga i gua w2 e
1 fymet SueTa 9ISl i 9T ST | D1 oK 999 5 F9 2

(L wE (dE) = (2) =q-tgEA
(3)  witas w2 718 s59 (4) U= = S

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]



4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

T 71 Foe fau 7w # : vF wfiEeE (Assertion A) % w9 ¥ fafiad 2 a1 950 3wF FEO (Reason R)
wHETH

ATFFE (A) Tl WETT AT RE H U AR s sEes =0 F gwiig w5 e
F1 (R) T 3R Fege ®Hg 90 W A | ganE A8 W awd |

IYTH YA = AT |, A9 30 T fawmeri 8 ® AEt 3 w1 =Ee iAo

(1) (A) = (R) 31 &9 & &R (R). (A) 1 @&l == 2
(2)  (A) ¥ (R) 2 w7 &, =ik (R), (A) i wEt = 765 2
(3) (A= 7, wiE (R) 918 2|

(4)  (A) 3@ 2, | (R) 7 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 92 W TEH D] AEAT % 4 HEIEd ERA R % Hal F6 h gEe i)
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(I T Bytes

Hr fou 7w fashedi @ § @E 3T R =99 SHifAC

(1) (D). (A), (©). (B)
(2) (A), (D). (C). (B)
(3) (A). (B). (C). (D)
4) (D). (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]



3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

I % HEY H fAE sgy 3 A S ghl 8, A & HUF 5y R

@ o o
F97 (11 : H@—tﬂé%mﬁﬁ@aaﬁaﬁmﬁﬁaﬁaﬁ?ﬁaaﬁ%mﬁmm%l

IVIF FIA F AEAF °, 79 20 70 T § |/ " 39 # 9E Sian

(1) = (D) = 1) 3+ 703 3
(2) =y (D) =31 (I1) 241 51897 2
(3) = (1) = 2, @i woF (1) A9 2|

(4) =3 (I) 8F &, wifba #9A (1D 97 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % =y g=-11 1 faem Fifm)
-1 11
(Frege aTfe w15g) (vrT=)
(A) OCR (I)  2Fka = weafeIlias mE=l 1 w67 =
fom v = 2
(B) OMR (I) =-Tomerdia whaman # o 729 F+ & foo
(C) Email (ITT) THT=HTIA FrgHeRT
(D) Instant Messaging (IV) #HFric® mujH:h«H
=1 fau o fasew § © ®El 3 F =m FrA
(1) (A)-ID). (B)-(I). (C)-(IV). (D)-(I1I)
()  (A)-AD. B)-D), (O)-(IID), (D)-IV)
(3)  (A)-D. (B)-ID), (C)-IID), (D)-IV)
@  (A)-D. (B)-AD), (C)-(IV), (D)-(IID)
Match List I with Last IT :
List I List IT

(Computer Terms) (Purpose)



I£) L L) Used To scan typed oOor nandawritten

documentsa

(B) OMR (II) Used to mark  multiple-cholce
examinations

(C) Email (TIT) Asvnchronous Communication

(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID), (B)-(T). (C)-(IV). (D)-(I1T)

(2) (A)-(IT), (B)-(I), (C)-(I1II), (D)-(IV)

(3) (A)-(I). (B)-(ID), (C)-(III), (D)-(IV)

(4) (A)-(D). (B)-(II), (C)-(IV). (D)-(I1T)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Ffafiga § o ®i9-o1 vH 3TH 1 &0 FE G T 2
(1) How SEAHFERES (2) fruTEE FEmES
(3) A TEATETES (4) =

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frferfiga | ° - 3l | g S0 = =0 9@ 27
(1) =i a1 (2) T
(3) e (4 FEEa

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frfafan § o -t ol smaer s Sedt 3 i 3uE sy aF S a2 2
(1) (2) e e
(3} f_-”f (4} ?R:HF[

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]



34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

qAT TR Fl TR FE D= F el § NMSHE fafafas § 8 fras gamer 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalavan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frferfiga § | 57 wguel #1 ufaga U9E 5959 & ERe 371 Jeag uiEdd W asdr 27

(A)  AT5ESHE SEATFEEES
(B)  =orE 9219 (PMas)
(C) ==

(D) =

(E)  Tsgd sieErss

= fou U feepewt | ® wE I 1 = it

(1) === (B), (C) 21 (D)
(2) = (A), (B) F(C)
(3)  =ae (B) 3 (D)
(4) == (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o o & "2d H, WHdE F=ad FEeE § g e § us uEgws ddn 9 fgii| e F fe
Frfetaa § 9 fra adm e fame =t e faar an?

(1) 7 (2) wHi S
(3) wH AN A (4) T HI g

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]



3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru

(C) NDRI ; ; (Ill) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 = wre g=i-11 %1 faee fifs)
TA-1 FA-II
(A) wuTH @ T
(B) wHHESET 1) =
(C) wF i HAW 3TE (III) =@7=
(D) i Zt Am o (IV) =

e fau o faedi 4 & |E I 1 wEA il

1) (A)-AD, (B)-ID. (C)(D). (D)-(IV)
@) (A)-ID, B)-D). (C)-AV), (D)-(I1T)
(3) (A)-(IID). (B)-(II). (C)-(I). (D)-(IV)
@) (A)-IV), (B)-(ID. (C)-(II), (D)-@)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

72 forem fifg (wa 2 1)-2020 9 w7 2 F vw Fi T == oA 2| @ e F G o e 20

(A) Tt d sEaE AR FamEn g AU Hee d=n e

(B)  =fermg =i AgeH = WrEifeft % v % e § FEE % ged AEE-TEE B9 6 99 90 A ST

(C) =i a1 SerEn 55 °§ gEEa ag sgardt fames = i )

(D) T qf=El, T i Joa afEds # & © 3w e = omw = eg et
ST 1 AR W 5T S AT T A

(E)  fore dienfiel ® siflg® 2717 9=amrd sl =0 (Har e

Hr fou 7w fashedt § § WE 3T R =94 A

(1) === (A). D). (B)



(2) == (A), (B). (E)
(3) == (B). (D). (E)

(4) == (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

frfafaa ® 5 -0 3-fomm 59 27
4 =

(B) wE

(C)  ==FwHn

(D)

(E) 7%

= fou mu fawedt 9 O 981 39 W =9 Fitw

(1) === (A). (B). (E)
(2)  FEE (A). (C). (D)
(3) === (B), (C). (D)
(4) == (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

WA TP W T 29 gA1 A4 2015 ® #ad faww @em-4 ® metad Aefatas 4 @ se-a 957 e

e 1
(1) 379 T 3R agee (2) TorEETTER fore
(3) T IEA (4) I FEER U SATEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]



4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

I T HEEHEE U 1§ W15 148 T W w3 3

HIAFT T FHF5-19 TEME 201 099 w1 AYdE 379w =R g9 i e faveag & an o wem
St A 21 Tt @i % sifam 241 4 ofern @ soe I3vE % WY T AE HIERCH L BISH Teah
TEET B 9 2| O OF @S F9 H 10 T o SO FH T 95 7 AR A WA
ST SEEAE A ISE1 95 W A Wed 9% ARWA SRS G%e § FA AfU® 3, 9% U ey
aETR-ASE @hz S 2| 29 W UA® oA SHE UAad B SE% [SHEmEl @EmsE Ands S
TSI AT TS a7 T ofse GEE a T O e A1 2| G U8 S @i ANGE qiqui
(ferarft) @ 7 w3 & ft o 7011 9 T = w2, W @ T fovg TR we & medm ¥ A
e ged gggi w ff 4@ W & a9 3 dfvaw A st FEeE % owd w0l g w s
TH-IAE T Agea § O R T 2| W S A S R e e w 2| 3% 6o o e
w9 GEFE B e WA g g gl R viee 3 wHg-te Wel 9% B SAaUsiE 99 E@eT w6
w9 & R 400 fafemm (40 =rs) <M =i ARl s wwdl 21 fava s A ATEE S 2 R os| A
o-Te (ifedE) 4 110 faferm smfeh sen i =t st seem sty 2 7 800 faferm (80 +Us)
A AT S et g w § geed T8 A A

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

Tgdi™ Tavargg = =12 fava =1 Uog w31 e 58 &9 4 5 27

(1)  =Ar=nfrs (2) et
(3) TEW (4) ===

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

A W N -

Read the passage carefully and answer the questions that follow :



The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

I T HEEHEE U T §H W15 148 T W H I 3

HFT T FHE5-19 T2EE 291 599 w1 AYdYs 3790 SR g win e faveag & aw o
w€t T B et 9 sifom A ofien | o 399 F WY TE 9 SRR B BIEE IoE
TEET B 99 2| O 0F @E F9 H 10 T S SO FH T 95 7 AR A # R #
ST SEEAE S ISM1 95 W 2| Wed 9% ARWA SRM G%e § Fal AfUE 2, 98 Uk eaqd
aETfaE-AfF wwz i B 29 F UcAE AN THE UWiEd 2| E SRR @EiEs g HiR
TSHITa® AT USH a7 T ot GEE a9 e e e A1 2| Y U8 1 A Afds qiqai
(fearft) @ 7 w3 & ft o 7011 99 T = w7, W @ T e e we & meEm ¥ A
e ged gegl w ff 4@ w8 a9 3 dfvaw amdE artEn FEeE % owd w0 ol g w s
THTAF T Agcd § O R T 2| W G S A e o e e 1w 3| 3 6o o uiiesfe
w9 GEFE B W W g g gl R viee 3 wHg-te Wel 9% B S#algiEa 99 E@eT w6
A & R 400 fafemm (40 =) <M =i il = wwdl &) fava s A AW S @ 6 os| A
w-maur (ifedm) 4 110 fafeme smfeh g 6 = smof| soew sifqum 2 B 500 fafemm (80 =ug)
S AT g SEt S g e | gwd T A

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

(1)
(3)

HemE] = Fefefiag @ o TR &3 w g =195 e 27

EICIEED (2) i
EEIE e ECe (4) TFEEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]

A w N -

3)

1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths, and the human family 1= suffering under an almost



mtoleraple burden oI 1033, DUL e pandemic 18 Inuch more than a nealth crisis, 1ts also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and 1ncome, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I AEEHYEE U 9T $HF @15 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMRT TR 759 F AYTIS I79F T2 Fhe 3R fgm favedg & o i aow
g A 2| et a4 % sifam 241 | uften § sue 3299 % W19 9% G S i BigH Ui
TR B e 99 21 37 OF @ ®9 H 10 9@ o SO I a1 99 7 R ol aead w5 ow #
ST SHEAE AiF IIET U5 @ 2| Weg 9% WEMEI WReT WhZ ° HEl HAUE 7, TE UH AYAE
aETEE-ATE w9z H 3| 29 W U oA SHE Wi | SE% SRRl AEmss Ands i
T TUTE USH A § TR o wee qs e T A B | g ag s weEitas st
(feradt) @ 7 wa & ff o T 9 T W T R, 919§ 7% fOve TR e & 5eAn ¥ 99 ®
= wedl geE w1 A 2@ w1 2 9w 9% afvew amdm et fEea F e W ot 3w e
oA % Agcd 3 e e T 2w S A S ol arm e w 3| 3= 98 e o afiesfe
w9 GEFg B T W A g gl wgl % wiee i wHg-dz Wl 98 B SAaUSE 9 E@eT w6
e & TR 400 fafemm (40 #is) =i i Stwfei s wdl 2| faga s 3 wgEm @ @t oo
w-Tm (ifeE) 4 110 fafem smfeh ser 6 =i soft) soem sifiom 2 7% 500 fafesm (80 =#0s)
ST AT g S # 9 FRE § A T8 A A

Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

FIA-T1 TETGM HES-19 H HeH FH AIET 5377 27

(1)

(3)

i (2) = sl
AT e (4) wAZEZET

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A w N =

4)

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and

longstanding scars. UNDP i1z the technical lead in the UN's socic economic recavery,



alongside the health response lead by WHO, anda the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 300

million people will not be able to meet their basic needs.

TS 1 WEEHYEE Ug q9T 36 915 20 T e S 2

FHAFT TEE FHI(G5-19 TEMR 501 699 1 A4S d79F S G 3R g favag & an o wew
o T 2| ot =i % sifam f240 | uftrn § o Igwa % W19 gE G I i BiSH Tl
TEET B B 99 21 3 7 @ B9 4 10 9 oA SO 9 & g9 7 e gl aeEa w5 R #
ST SFEEAE S I TS @ 2| Wed TE WEEN WA e d FEl AGE 2, TE UH AYaqE
(fadt) @ 7 w= 2 ff v T 9 TEE W T 7, WY 6 7 Y9 TR e 5eAR T 9w W
wWrEe wudl gga w1 A 2@ w1 2 99 g% afvew uedE st FEee % e W o 3w e
oA % Agcd § e R T 2w T S and SAsfan ol amm e w 2| 3= T8 e o afdesfe
w9 GEFE B wEed 9 Y 2 gdiE e o sieel # WHg-02 Wiel 9% §| SAaUUiE 99 @ @6
wAE & % 400 fafema (40 #rs) & Fi SiEn 1 G 3| fava @ 3 wgEe w2 e
g-Tmr (ifEeE) 9 110 fafeme wufef sen 6t w0 st see wfiome 2 % soo fafemm (so0 =)
A A g S # g FE g =@ T8 A A

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

1 # © fm gean 5 UN &1 amfas anfis afomta (feadl) asm =t 9903 7em 0 27

(1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]

A w N -

5)

1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1t emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small

1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The

TR ERUEIPIGIRn S Lo, Loy, oty DHPANSRRTLCRe o SR PRt SIS b TSNSt T, VI Y Sy UPRRAE e R ACN S U L ¥ o S p i SOOI s, WO DTS TR, Tk M AL WP M o ) SRRTRS g f A, B |



T T - L L o LI LY e A P L Rt AR L A RN O | Sk R 0] WL s LA,

Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T 1 HEUHEF U q97 39 91 98 T e w5 I A

FAAT AEE FHITS- 19 FEWRT 791 T F1 AYayd s =R g6e A f5dm favagg F . 1 ww
gt A 21 e ad % wfon B9 4 ofeen 4 sas 35va % WY 9 91 ACEhiCR T SiSH Ueih
TR B B 9 21 3T OF @ ®9 H 10 9@ o SO I a1 99 7 SR gl aead w5 a #
TN SEEAE A IBE UF W | Wed 9% UEWH WRed "he | FA AUE 8, T8 UH AYaqd
gETaE- Al WHz 6 2| W W TS A THE UANEA 2| TE SRRERR m@Eas A Hin
TS THTE TS A § feh o wHe @ TRl eI e Al B | wgT U w1 At st afaurth
(feraft) & 9 w7 S ot o TR 903 TEE W R, WY A TR vE = W F ' 6 9 T
e wEdl Hgg w6 9@ W 99 4w Afvew AmEE e FEem o owE W of 3w e
TE-ETF o Agcd ° e R T 2w 5 @ Ae St o g T 2 3 9E ua foe et
w9 A B wHed W i w gdt wel % e o wug-gz welt 93 F) SadE aW we #
e & TR 400 fafemm (40 #s) =i i Stwfen st wdt 2| e d% 3 wgEE @ @ oo
w-uaur (ifada) 4 110 fafermm amfef s i = amofl| soer sifaom 2 % s00 fafemm (80 =ug)
AT A FEEE S # 9 F § T T A A

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

FIfTE-10 F e ¥ Fefafes § 0 5= g/ sfose =g 25 it 998 %9 g 2

(1)  wHeq 3am (2) = =] g
(3)  airfer afaes (4) SR aiaeE

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






